
Word problems 

 

Every pizza has 4 slices. There are 

5 pizzas. How many slices are 

there altogether? 

 

There are 12 biscuits in a packet. 

There are 4 children. How many 

biscuits can they have each? 

 

6 children are coming to the 

party. They each need 3 sweets in 

their party bag. How many sweets 

are needed altogether? 

 

There are 10 pens in a pot. There 

are 4 pots. How many pens are 

there altogether? 

 

Grandad has £15. He wants to 

share it between his 3 

grandchildren. How much do they 

get each? 

 

Tim and Jo make 4 towers. Each 

tower has 5 bricks. How many 

bricks do they use altogether? 

 


